N = 0l & AF & F Al A

20118 S =204t LBeIA SHAHS ~ HAS

A HAS

MU OIS BRMUIAZE 23
Sl SIS ZolME X (=CRE
SA BB H(BH) - MBAY - B2 O A+ 24 gggig HRs2
oS 442,562 395,269 47,313
SIS BEAMHIARE 23 270,042 202,352 47,690
CHE FOME XY 270,042 202,352 47,690
SHSEURXME 29 26,400 15,000 11,400
201 Ygreg| 15,000 15,000 0
01 AtRZ eIt 15,000 15,000 0
OFQXAMEl LAY 15,000,0008 *14] 15,000
401 AEHIYLS ] 10,000 0 10,000
01 Al&dH| 10,000 0 10,000
ogmzMEe M3 10,000, 00024 *14! 10,000
405 XtarE S| 1,400 0 1,400
01 XHALSEF S| 1,400 0 1,400
OFQUX X MEf PCTL 1,400, 0002 *1CH 1,400
SIS FUHOHE 125,570 125,570 0
301 YsrPAS 125,570 125,570 0
05 -2 - BEESEN2 124,570 124,570 0
OsSE+Y 200,002 *3401 x 122 81,600
OSHHUS 200,000 %3401 x23] 13,600
OSHBIQBMLL 20,0002 %3401 %23 x 128 16,320
OB RS 50,0002 %261¢! 13,050
10 BAFAHIEAS 1,000 1,000 0
ONS U HAS FAX YIS
1,000,000 %141 1,000
SHE BARgne 47,557 17,557 30,000
201 Yereg| 17,557 17,557 0
02 2223l 17,557 17,557 0
O23Ze2 % HA 11,457 00024 *14! 1,457
SLEL] 4,100,00021 *14! 4,100
OAN&ZHI S| 2,000,0002 14! 2,000
401 &6 S0 30,000 0 30,000
01 Al&| 30,000 0 30,000
OBDAIE(MD 33m)  20,000,0008 %19 A 20,000
OSHARS SAY=BAH(336M)
10,000, 00024 *14! 10,000
SHE HHX 62,515 56,225 6,290
201 Ygreg| 24,255 24,255 0
01 AtRZelt| 14,256 14,255 0
GETIES =1 13,255, 0002 *14! 13,255
ORTYX2 1,000,00021 *14! 1,000




A HAS
B OIS HENUARE 23
ol BHS FoIME X =
_ _ MNuE o
SNBSS - HRAY - BHES aroy 01l & 01 e
02 =234l 10,000 10,000 0
O fER= 10,000, 000 14 10,000
202 ¢4 H| 24,760 26,920 A2,160
01 =Wl 24,760 26,920 22,160
OJleg2=8odl(112l) 1,980,000& x12& 23,760
O22 o bl 1,000, 0003 =14 1,000
405 AHoHESHI 13,500 5,050 8,450
01 XYL S SFSHI 13,500 5,050 8,450
OLFEPC(Z2LIEZE) 1,400, 0003 *5CH 7,000
O& 371 500,000 = 1CH 500
O=gl 6,000, 000& = 1CH 6,000
s AdZ2el X 8,000 8,000 0
405 KHAHFSHI 8,000 8,000 0
01 ML ESHSHI 8,000 8,000 0
Ol zaeldl 8,000, 0002 =14 8,000
SHAHS AHEZ I 122,617 122,994 AN377
Hs 2 E2F0=s2AAY 122,617 122,994 VANCTAA
s =e=JAAY 120,432 120,864 N432
401 A &HIL 204 120,432 120,864 AN432
01 Al&t| 120,000 120,000 0
O 58 =33 &HHI(1,200m &CI2)
15,000, 0003 * 14 15,000
o188 SAHZAZY =2 Zdl(L=60m, B=2m)
10,000, 000& * 14 10,000
0188 =oli&&X =2 HHI(L=100m,B=2m)
25,000, 0002 * 14 25,000
O188 2 & =2 HHI(L=50m,B8=2m)
9,000, 000& * 14 9,000
0258 A =SS W 2+ &2 X F(L=200m,B=4m)
15,000, 0003 =14 15,000
O 268 Retdzd F=H ST 2FHI(L=150m, HE
Ql) 22,000,000 *14] 22,000
O 28828 =22 24 (L.=90m,B=800mm)
15,000, 0002 * 14 15,000
028828t &2 £ 4 (L=50m,B=800mm)
9,000, 000& * 14 9,000
03 A& 01l 432 864 AN432
OA &S UHI 120,000,000& *0.72/100%0.5 432
HAs T2 &Y 2,185 2,130 55
101 144l 2,185 2,130 55
04 JI2tHIZ2E2NHEE S 2,185 2,130 55




SH: HHS
M s ArE 3]
Gl BHE ARRFOISEA (a2
SN HH G (EH) - MBAY - BYS Ak Soe s
O &2 22(HE) & &l
43,700 x521 %102 2,185
s dE283d| 49,923 49,923 0
EHls s 2dd| 29,083 39,203 210,120
HAs A2 AY| 29,083 39,203 210,120
101 elHH| 29,083 29,083 0
01 2= 29,083 29,083 0
OAZIZ2E 7,457 %1321 %300A1 2+ 29,083
&S J12Z 4 20,840 10,720 10,120
HHls Jl=23l 20,840 10,720 10,120
201 LBt 3| 7,560 7,560 0
01 AtE222|Hl 7,560 7,560 0
ORM2Z =& 5,376,000& 14 5,376
OF=3=3:] 7,000& x1321x23|x12& 2,184
202 O4Hl 3,160 3,160 0
01 =LA bl 3,160 3,160 0
OJleg==8ud (1) 180,000& x12& 2,160
o221l 1,000,000& * 14! 1,000
203 HRF&H| 10,120 0 10,120
01 JI22FHRF&H| 6,600 0 6,600
OJI22IHRF4| 6,600,000& 1€l 6,600
02 HANMIRF=EHI 520 0 520
OZFAINMHRFLHI 40,0003 132! 520
04 FN2ILRFAHI 3,000 0 3,000
ORN2IHRFAHI 250,000 «12& 3,000




